

April 11, 2023

VIA ELECTRONIC MAIL

Luly E. Massaro, Commission Clerk Rhode Island Public Utilities Commission 89 Jefferson Boulevard Warwick, RI 02888

RE: Docket No. 22-33-EE – 2023 Annual Energy Efficiency Program Plan Quarterly Report of EERMC Invoices – 2023 Quarter 1

Dear Ms. Massaro:

On behalf of The Narragansett Electric Company d/b/a Rhode Island Energy (the "Company"), attached please find the 2023 – quarter 1 report showing Energy Efficiency Resource Management Council ("EERMC") expenses for work performed by EERMC vendors in connection with the 2023 energy efficiency program year that were paid by the Company between January 1, 2023 to March 31, 2023.¹

This report is being filed in accordance with directives issued by the Public Utilities Commission ("PUC") at an open meeting that occurred on January 25, 2022. Specifically, the PUC directed the Company to file copies of all invoices paid to cover EERMC's expenses on a quarterly basis by the 15th of April, July, October, and December.

Please note that consistent with the directives issued by the PUC, the Company will also send a copy of this report to each member of the EERMC individually via e-mail.

Thank you for your attention to this filing. If you have any questions or concerns, please do not hesitate to contact me at 401-784-4263.

Sincerely,

Andrew S. Marcaccio

Soul & m

Enclosures

cc: Docket No. 22-33-EE Service List

¹ Per a communication from Commission counsel on October 4, 2021, the Company is submitting an electronic version of this filing followed by six (6) hard copies filed with the Clerk within 24 hours of the electronic filing.

Vendor Name	Vendor Invoice #	Date Range for Time Worked	Inv		Date Invoice	Date Approval by EERMC Executive Director Received	
Rhode Island Builders Association	RIBA-90658	1/31/2023	\$	40,000.00	1/20/2023	1/20/2023	1/27/2023
Desautel Law	1061	1/11/23-2/7/23	\$	4,720.00	2/28/2023	2/28/2023	2/28/2023
Optimal Energy	316981	January	\$	47,387.75	3/14/2023	3/14/2023	3/17/2023
		TOTAL	\$	92,108			

Rhode Island Builders Association

450 Veterans Memorial Pkwy Ste 301 East Providence, RI 02914 401) 438-7400 www.ribuilders.org

BILL TO

Rhode Island Energy Efficiency and Resource Management Council 1 Capitol Hill Providence, RI 02908

Attention: Steven Chybowski & Harry

Oakley

INVOICE #	DATE	TOTAL DUE	DUE DATE	ENCLOSED
RIBA-90658	01/06/2023	\$40,000.00	01/30/2023	

Invoice

ITEM DESCRIPTION	ITEM DESCRIPTION		AMOUNT
HS Sponsorship	2023 Home Show Sponsorship - EERMC		40,000.00
		SUBTOTAL	40,000.00
		TAX	0.00
		TOTAL	40,000.00
		BALANCE DUE	\$40,000.00

Company check preferred. Please make checks payable in US funds to The Rhode Island Builders Association

Please send all payments to: Rhode Island Builders Association 450 Veterans Memorial Pkwy #301 East Providence, RI 02914

INVOICE

DESAUTEL LAW

Invoice # 1061 Date: 02/10/2023 Due On: 03/12/2023

38 BELLEVUE AVE, UNIT H NEWPORT, RI 02840

RI Energy Efficiency Resource Management Council EERMC and Rhode Island Energy PURCHASE ORDER #3200171172

15-00012

Legal Counsel to EERMC.

Туре	Date	Notes	Quantity	Rate	Total
Service	01/11/2023	Correspondences: Virtual meeting re: EE docket rate error. Follow up with C-Team.	1.80	\$275.00	\$495.00
Service	01/17/2023	Attention to compliance filing, data requests in EE docket. Emails re: objections and docket.	1.20	\$275.00	\$330.00
Service	01/17/2023	Review of documents: Review draft proposal and documents provided by client; edits to draft contract.	3.20	\$275.00	\$880.00
Service	01/18/2023	Emails: RIPUC, C-Team re: comments on new filing.	0.50	\$275.00	\$137.50
Service	01/19/2023	Meeting: Executive Committee meeting.	2.00	\$275.00	\$550.00
Service	01/19/2023	Emails: C-Team, PUC re: compliance filing.	0.50	\$275.00	\$137.50
Service	01/20/2023	Meeting: Virtual with PUC, RI Energy re: errors in compliance filing. Emails with C-Team re: same.	1.40	\$275.00	\$385.00
Service	01/20/2023	Review of documents: Review/finalize edits to draft contract.	0.40	\$275.00	\$110.00
Service	01/21/2023	Review Dunsky contract changes. Forward same to OER.	0.40	\$275.00	\$110.00
Service	01/21/2023	Emails: C-Team re: comments on error in compliance filing.	0.40	\$275.00	\$110.00
Service	01/23/2023	Updated Compliance Filing.	0.10	\$225.00	\$22.50
Service	01/23/2023	Emails: C-Team re: extension on 3 year targets. OER re: contract review. RI Energy re: revised compliance filing. Review same.	1.00	\$275.00	\$275.00

Service	01/23/2023	Emails: RRR to email. Call with client. Attn to draft contract.	0.30	\$275.00	\$82.50
Service	01/24/2023	Emails: C-Team re: process for enlargement of time. Review same.	0.60	\$275.00	\$165.00
Service	01/24/2023	Drafting documents: Revising draft contract.	0.80	\$275.00	\$220.00
Service	01/25/2023	Attention to Division's comments on EE compliance filing.	0.30	\$275.00	\$82.50
Service	01/27/2023	File Management: Open Meeting Notice for January 31, 2023.	0.10	\$225.00	\$22.50
Service	01/27/2023	Attention to Dunsky contract, revise same.	0.40	\$275.00	\$110.00
Service	01/27/2023	Emails: RRR to email from client. Attn to status.	0.20	\$275.00	\$55.00
Service	01/31/2023	PUC Open Meeting re: EE Docket. Emails with C-Team re: same. Emails with C-Team re: targets extension.	0.50	\$275.00	\$137.50
Service	02/03/2023	Emails: PUC Attorney Harrington, C-Team re: meeting for extension.	0.40	\$275.00	\$110.00
Service	02/07/2023	Correspondences: PUC Attorney, C-Team re: request for extension.	0.70	\$275.00	\$192.50

Total \$4,720.00

Detailed Statement of Account

Current Invoice

Invoice Number	Due On	Amount Due	Payments Received	Balance Due
1061	03/12/2023	\$4,720.00	\$0.00	\$4,720.00
			Outstanding Balance	\$4,720.00
			Total Amount Outstanding	\$4,720.00

Please make all amounts payable to: DESAUTEL LAW

Please pay within 30 days.

INVOICE Federal Tax ID# 03-0351557



Remit checks to: Optimal Energy, Inc. PO Box 74008680 Chicago, IL 60674-8680

Remit ACH transfer to: ABA Routing Number 063100277 Account Number 898052466590

Email ACH/Wire remittance details to RemittanceNotifications@nv5.com

Remit Wire Transfers to: ABA Routing Number 026009593 Account Number 898052466590 Swift Code INTL. BOFAUS3N

February 24, 2023 Steven Chybowski Project No: 863223-0007525.00 Rhode Island Office of Energy Resources Invoice No: 000000316981 Professional Services from January 01, 2023 to January 31, 2023 001 EE Prg Planning & Implementation Oversig Phase Task 01 Council Representation **Professional Personnel Hours Rate Amount** Johnson, Craig 193.00 337.75 1.75 Ross, Samuel 3.25 206.00 669.50 5.00 1,007.25 **Totals Total Labor** 1,007.25 **Consultants** Ralph Prahl 618.00 **Total Consultants** 618.00 618.00 **Total this Task** \$1,625.25 02 Implementation Oversight and Plan Develo Task **Professional Personnel Hours Rate Amount** Caesar, Adrian 64.50 9,030.00 140.00 Johnson, Craig 13.75 193.00 2,653.75 Keller, Michelle 7.00 206.00 1,442.00 Ross, Samuel 20.00 206.00 4,120.00 Totals 105.25 17,245.75 **Total Labor** 17,245.75 **Consultants** Core Energy Insights Inc. 1,688.75 EcoMetric Consulting, LLC 1,390.50 Energy Futures Group, Inc. 2,111.50 Jennifer Chiodo 309.00 **Total Consultants** 5,499.75 5,499.75 **Total this Task** \$22,745.50 Task 03 **Education Initiatives**

Project	863223-0007525.00	Rhode Island EERMC -	2023		Invoice	00000031698
Profession	nal Personnel					
			Hours	Rate	Amount	
Caesar	, Adrian		.50	140.00	70.00	
Johnso	n, Craig		.25	193.00	48.25	
	Totals		.75		118.25	
	Total Labor					118.25
Consultan	ts					
Rachel					2,334.75	
Nacriei	Total Consul	ltante			2,334.75	2,334.75
	Total Collsu	italits			•	•
				Total th	is Task	\$2,453.00
				Total this	s Phase	\$26,823.75
– – – – Phase	002	System Reliability Procure	 ement			
Task Profession	01 nal Personnel	Council Representation				
FIUIESSION	iai Personnei				<u>.</u> -	
D 0	Samuel		Hours	Rate	Amount	
Ross, S			1.50	206.00	309.00	
	Totals		1.50		309.00	200.00
	Total Labor					309.00
	Total this Task		is Task	\$309.00		
– – – – Task		Plan Development and Ov				
	nal Personnel	rian Development and Ov	cisigni			
riolession	iai reisoillei		Hours	Data	Amarint	
Docc S	Samuel		3.00	Rate 206.00	Amount 618.00	
Ross, S	Totals		3.00	200.00	618.00	
	Total Labor		3.00		010.00	618.00
	i Otai Laboi					010.00
				Total th	is Task	\$618.00
				Total this	Phase	\$927.00
 Phase	003	Regulatory Proceedings				
Task Profession	01 nal Personnel	Council Representation				
101633101	iai r'CisvilliCi		Цента	Data	A	
lobas-	un Craig		Hours	Rate 193.00	Amount	
	on, Craig		2.00 2.50	193.00 206.00	386.00	
Ross, S			2.50 4.50	۷۰۵٬۰۰۷	515.00	
	Totals Total Labor		1 .50		901.00	901.00
	וטנמו במטטר					
				Total th	is Task	\$901.00
			 als			. – – –
Task						
	nal Personnel					
Task Professio n	nal Personnel		Hours	Rate	Amount	
Profession	nal Personnel on, Craig		Hours 9.00	Rate 193.00	Amount 1,737.00	

Project	863223-0007525.00	Rhode Island EERMC - 2023		Invoice	00000031698
Ross, Sa	amuel	.75	206.00	154.50	
	Totals	9.75		1,891.50	
	Total Labor				1,891.50
			Total th	is Task	\$1,891.50
			Total this	Phase	\$2,792.50
– – – – Phase	004	Council Sponsored Meetings and Mate	 erials		
– – – – Task	01	Meeting Attendance			
	al Personnel	receing recentained			
		Hours	Rate	Amount	
Caesar,	Adrian	2.00	140.00	280.00	
Johnson		1.00	193.00	193.00	
Ross, Sa		3.00	206.00	618.00	
•	Totals	6.00		1,091.00	
	Total Labor			-	1,091.00
			Total th	is Task	\$1,091.00
- Task	02	Develop Technical Materials			
	al Personnel				
		Hours	Rate	Amount	
Caesar,	Adrian	13.75	140.00	1,925.00	
Johnson	n, Craig	7.75	193.00	1,495.75	
Ross, Sa	amuel	5.25	206.00	1,081.50	
	Totals	26.75		4,502.25	
	Total Labor				4,502.25
Consultant	s				
Rachel 9				852.50	
	Total Consu	ıltants		852.50	852.50
			Total th	is Task	\$5,354.75
Task Professiona	03 al Personnel	Other Council Responsibilities			
		Hours	Rate	Amount	
Johnson	n, Craig	.25	193.00	48.25	
30.1113011	Totals	.25		48.25	
	Total Labor			.3.23	48.25
Consultant					
Rachel S				193.75	
Nachier	Total Consu	ultants		193.75 193.75	193.75
	. 0.0 001130				
			Total th	is Task	\$242.00
			Total this	Dhaco	\$6,687.75

Project	863223-0007525.00	Rhode Island E	ERMC - 2023		Invoice	00000031698
Profession	nal Personnel					
			Hours	Rate	Amount	
Johnso	on, Craig		36.25	193.00	6,996.25	
Keatin	g, Griffith		3.75	140.00	525.00	
Mosen	thal, Philip		8.00	220.00	1,760.00	
Ross, S	Samuel		4.25	206.00	875.50	
	Totals		52.25		10,156.75	
	Total Labor					10,156.75
				Total this	Phase	\$10,156.75
Billing Lin	nits		Current	Prior	To-Date	
Total E	Billings		47,387.75	0.00	47,387.75	
Lir	nit				952,976.00	
Re	emaining				905,588.25	
				Total this I	invoice	\$47,387.75
Billings To	o Date					
		Current	Prior	Total		
Labor		37,889.00	0.00	37,889.00		
Consu	ltant	9,498.75	0.00	9,498.75		
Totals	5	47,387.75	0.00	47,387.75		

863223-0007525.00 Rhode Island EERMC - 2023 Project Invoice 000000316981 Billing Backup Friday, February 24, 2023 NV5, Inc. Invoice 000000316981 Dated 2/24/2023 Phase 001 EE Prg Planning & Implementation Oversig 01 Council Representation Task **Professional Personnel Hours** Rate **Amount** .75 193.00 144.75 Johnson, Craig 1/17/2023 Bi-weekly check-in with RIE and OER. 1.00 193.00 193.00 Johnson, Craig 1/31/2023 Bi-weekly check-in meeting with RIE and OER. Ross, Samuel 1/3/2023 1.50 206.00 309.00 OER/RIE check in call (long) Ross, Samuel 1/17/2023 1.00 206.00 206.00 Meeting with RIE and OER Ross, Samuel 1/18/2023 .75 206.00 154.50 attend pre-kick off call with MPS mgmt team, Dunsky re: MPS data refresh; follow up to proceed with URI Energy Fellow Candidate for Mike Guerard Energy Fellowship **Totals** 5.00 1,007.25 **Total Labor** 1,007.25 **Total this Task** \$1,625.25 Task 02 Implementation Oversight and Plan Develo **Professional Personnel** Hours Rate **Amount** Caesar, Adrian 1/3/2023 3.50 140.00 490.00 RI energy information requests, MPS refresh data collection; EM&V completed studies list for MPS refresh; PY2020 CustGas final report and one pager review; Measure Life Study SOW review/comments Caesar, Adrian 1/4/2023 3.00 140.00 420.00 MPS refresh data collection for Dunsky, regulatory updates for EERMC, EERMC 2023 priorities and planning schedule development; January C&I sector team meeting scheduling; updated PY2020 CG Impact evaluation report and one pager review; final PY2020 Custom Electric impact evaluation report review 490.00 Caesar, Adrian 1/5/2023 3.50 140.00 EERMC meeting materials development, educational videos rollout; EERMC 2024-2026 Plan priorities development - detailed priorities memo to inform January EERMC discussion/ExCom feedback on draft priorities list and recommendations Caesar, Adrian 1/6/2023 3.75 140.00 525.00 EERMC 2024-2026 Plan priorities development - detailed priorities memo on draft priorities list and recommendations; January C&I lighting call; 2023 Plan commitments documentation; C&I reporting workbook development - updated mapping of BCR models and actual program data, data visualization/chart updates, BCR model measure reclassification; Cadeo Measure Life Study workplan review and comments; C-Team working session - C&I program and lighting data reporting updates, 2023 Plan commitments documentation; MPS refresh updated resources list for dunsky; January C&I sector team mtg. development

Adrian I //2023 3.50 140.00 490.00 January C&I sector team agenda development; 2023 C&I sector team call and Plan deep dive meeting topic list; RI Measure Life study workplan review; PY2018/2019 Custom list; RI Measure Life study workplan review; PY2018/2019 Custom list cone page review; PY2020 cust elect frame review; PY2018/2019 Custom list cone page review; PY2020 cust elect frame review; PY2018/2019 Custom list cone page review; PY2020 cust elect frame review; PY2020 cust elect frame review; PY2018/2019 and provides; EISA/TLED/Screw based lighting incentive plan for RI; January Catter of the page of the provides of the provide	Project	863223-0007525.00	Rhode Island EERMC -	2023		Invoice	000000316981
and Plan deep dive meeting topic list; RI Messure Life study workplan review; PY2018/2019 Quston elice con pager review; PY2018/2019 Qust elec final report one pager review; EMV study tracker updates provided to the provided of the provid	Caesar, Adı	rian	1/9/2023	3.50	140.00	490.00	
2024-2026 EERMC Plan priorities; EN8W planning and updated series; EISA/TLED/Screw based lighting incentive plan for RI; sesar, Adrian 1/11/2023 2.75 140.00 385.00 2024-2026 EERMC Plan priorities development; MPS refresh key data source updates for Dunsky; proposed final RICE2018/2019/ and RICE2020 One pager and report review; 2023 Plan commitments tracker development; EN8V study tracker review and relevant studies from other jurisdictions documentation request 1/12/2023 4.00 140.00 560.00 2024-2026 EERMC Priorities Development; C&I Sector Team call - prep and notetaking; reframing of EERMC priorities for underserved communities and equity; C&I meeting topic and 2024-2026 Annual/3YP gantt chart development 1/13/2023 3.50 140.00 490.00 2024-2026 EERMC Priorities Development; MPS refresh resource list for Dunsky and RI Energy feedback review; C&I data reporting - end use and program level reporting updates sear, Adrian 1/18/2023 2.50 140.00 350.00 2024-2026 EERMC Priorities mouptables - C&I data report template updates, installed measure mapping to BCR model measures, program-level reporting sheet development; MPS measure mapping extraction for Dunsky and RI Energy feedback review; C&I data report template updates, installed measure mapping to BCR model measures, program-level reporting sheet development; MPS measure mapping to BCR model measures, program-level reporting sheet development; are program-level propri		and Plan deep dive meer review; PY2018/2019 Cu	ting topic list; RI Measur istom Elec one pager rev	e Life study w view; PY2020	vorkplan		
EISA/TIED/Screw based lighting incentive plan for RI; sear, Adrian 1/11/2023 2.75 140.00 385.00 2024-2026 EERMC Plan priorities development; MPS refresh key data source updates for Dunsky; proposed final RICE2018/2019/ and RICE2020 One page and report review; 2023 Plan commitments tracker development; EM8V study tracker review and relevant studies from other jurisdictions documentation request sear, Adrian 1/12/2023 4.00 140.00 560.00 2024-2026 EERMC Priorities Development; C8L Sector Team call - prep and notetaking; reframing of EERMC priorities for underserved communities and equity. C8L meeting topic and 2024-2026 Annual/3YP gartt chart development 1/13/2023 3.50 140.00 490.00 2024-2026 EERMC Priorities Development, MPS refresh resource list for Dunsky and RI Energy feedback review; C8L data reporting - end use and program level reporting updates and program level reporting updates and program level reporting updates are calls for EERMC feedback to date; 2023 RI program data reporting updates - C8L data report template updates, installed measure mapping to BCR model measures, program-level reporting sheet development; MPS measure MpS refresh; 2023 RI program data reporting updates - C8L data report template updates - C8L data report template updates - C8L data report template updates, installed measure mapping to BCR model measures, program-level reporting sheet development; preserved and program level reporting sheet development; preserved and star report template updates, installed measure mapping to BCR model measures, program-level reporting sheet development; preserved progra	Caesar, Adı	rian	1/10/2023	3.50	140.00	490.00	
2024-2026 EERMC Plan priorities development; MPS refresh key data source updates for Dunsky; proposed final RICE20219/2019/ and RICE2020 One pager and report review; 2023 Plan commitments tracker development; EM&V study tracker review and relevant studies from other jurisdictions documentation request lesar, Adrian 1/12/2023 4.0.0 140.00 560.00 2024-2026 EERMC Priorities Development; C&I Sector Team call - prep and notetaking; reframing of EERMC priorities for underserved communities and equity; C&I meeting topic and 2024-2026 Annual/3YP gantt chart development and 1/13/2023 3.50 140.00 490.00 2024-2026 EERMC Priorities Development; MPS refresh resource list for Dunsky and RI Energy feedback review; C&I data reporting - end use and program level reporting updates and program level reporting updates and program level reporting updates - C&I data report template updates, installed measure mapping to BCR model measures, program-level reporting sheet development; MPS refresh; 2023 RI program data reporting updates - C&I data report template updates, installed measure mapping for MPS refresh; 2023 RI program data reporting updates - C&I data report template updates installed measure mapping for MPS refresh; 2023 RI program data reporting updates - C&I data report template updates, installed measure mapping for MPS refresh; 2023 RI program data reporting updates - C&I data report template updates, installed measure mapping for MPS refresh; 2023 RI program data reporting updates - C&I data report template updates, installed measure mapping to BCR model measures, program-level reporting sheet development; preformal review review; lanuary Res EM&V mtg agenda development; preformal review; lanuary Res EM&V mtg agenda development; preformary development; 2023 RI program data reporting updates - C&I data review and data report development; 2023 EP lan commitments tracker development; MPS-BCR Model mapping table development; ERMC mtg, follow-ups; preliminary 2022 year-end Residential and C&I data review and data report dev					d series;		
source updates for Dunsky; proposed final RICE2018/2019/ and RICE2020 One pager and report review; 2023 Plan commitments tracker development; EM&V study tracker review and relevant studies from other jurisdictions documentation request sear, Adrian 1/12/2023 4.00 140.00 560.00 2024-2026 EERMC Priorities Development; C&I Sector Team call - prep and notetaking; reframing of EERMC priorities for underserved communities and equity; C&I meeting topic and 2024-2026 Annual/3YP gantt chart development sear, Adrian 1/13/2023 3.50 140.00 490.00 2024-2026 EERMC Priorities Development; MPS refresh resource list for Dunsky and RI Energy feedback review; C&I data reporting - end use and program level reporting updates are provided by the program level reporting updates are provided by the program level reporting updates - c&II data report template updates, installed measure mapping to BCR model measures, program-level reporting sheet development; MPS measure mapping extraction for Dunsky and the reporting updates - C&II data report template updates, installed measure mapping to BCR model measures, program data reporting updates - C&II data report template updates, installed measure mapping to BCR model measures, program data reporting updates - C&II data report template updates, installed measure mapping to BCR model measures, program data reporting updates - C&II data report template updates, installed measure mapping to BCR model measures, program-level reporting sheet development; program-level reporting sheet d	Caesar, Adı	rian	1/11/2023	2.75	140.00	385.00	
2024-2026 EERMC Priorities Development; C&I Sector Team call - prep and notetaking; reframing of EERMC priorities for underserved communities and equity; C&I meeting topic and 2024-2026 Annual/3YP gantt chart development 1/13/2023 3.50 140.00 490.00 2024-2026 EERMC Priorities Development; MPS refresh resource list for Dunsky and RI Energy feedback review; C&I data reporting - end use and program level reporting updates program level reporting updates - c&I data report template updates, installed measure mapping to BCR model measures, program-level reporting sheet development; MPS measure mapping extraction for Dunsky and RI reporting updates - C&I data report template updates, installed measure mapping for MPS refresh; 2023 RI program data reporting updates - C&I data reporting sheet development; MPS measure mapping extraction for Dunsky and the reporting updates - C&I data reporting sheet development; MPS measure mapping to BCR model measures, program data reporting updates - C&I data report template updates, installed measure mapping to BCR model measures, program-level reporting sheet development; 1/20/2023 1.50 140.00 210.00 2023 RI program data reporting updates - C&I data report template updates, installed measure mapping to BCR model measures, program-level reporting sheet development; program-level report development; program-level reporting sheet development; program-level report development sudder development; program-lev		source updates for Duns RICE2020 One pager an development; EM&V stu	ky; proposed final RICE2 d report review; 2023 Pla dy tracker review and rel	2018/2019/ ai an commitme	nd Ints tracker		
and notetaking; reframing of EERMC priorities for underserved communities and equity; C&I meeting topic and 2024-2026 Annual/3YP gantt chart development 1/13/2023 3.50 140.00 490.00 2024-2026 EERMC Priorities Development; MPS refresh resource list for Dunsky and RI Energy feedback review; C&I data reporting - end use and program level reporting updates 1/18/2023 2.50 140.00 350.00 2024-2026 EERMC Priorities memo updates - edits for EERMC feedback to date; 2023 RI program data reporting updates - c&I data report template updates, installed measure mapping to BCR model measures, program-level reporting sheet development; MPS measure mapping extraction for Dunsky 1/19/2023 4.00 140.00 560.00 MPS measure/BCR measure mapping for MPS refresh; 2023 RI program data reporting updates - C&I data report template updates reporting updates - C&I data report reporting sheet development; MPS measure mapping extraction for Dunsky 1/19/2023 4.00 140.00 560.00 MPS measure/BCR measure mapping for MPS refresh; 2023 RI program data reporting updates - C&I data report template updates, installed measure mapping to BCR model measures, program-level reporting sheet development; 1/20/2023 1.50 140.00 210.00 2023 RI program data reporting updates - C&I data report template updates, installed measure mapping to BCR model measures, program-level reporting sheet development; 1/23/2023 2.00 140.00 280.00 C&I/Res cross-jurisdictional study reference list and study tracker review; January Res EM&V mtg agenda development; preliminary 2022 C&I data review/QAQC 1/24/2023 4.50 140.00 630.00 Final 2023 compliance filing review, EERMC mtg. follow-ups; preliminary 2022 year-end Residential and C&I data review and data report development; 2023 gerand Residential and C&I data review and data report development; 2022 year-end Residential and C&I data review and data report development; 2022 gerand Residential and C&I data review and data report development; 2022 year-end Residential and C&I data review and data report development; 2022 ye	Caesar, Adı	rian	1/12/2023	4.00	140.00	560.00	
2024-2026 EERMC Priorities Development; MPS refresh resource list for Dunsky and RI Energy feedback review; C&I data reporting - end use and program level reporting updates - edits for EERMC feedback to date; 2023 RI program data reporting updates - edits for EERMC feedback to date; 2023 RI program data reporting updates - C&I data report template updates, installed measure mapping to BCR model measures, program-level reporting sheet development; MPS measure mapping extraction for Dunsky Dunsky Dunsky Dunsky Dunsky Desar, Adrian 1/19/2023 4.00 140.00 MPS measure/BCR measure mapping for MPS refresh; 2023 RI program data reporting updates - C&I data report template updates, installed measure mapping to BCR model measures, program-level reporting sheet development; Desar, Adrian 1/20/2023 1.50 140.00 2023 RI program data reporting updates - C&I data report template updates, installed measure mapping to BCR model measures, program-level reporting sheet development; Desar, Adrian 1/23/2023 2.00 140.00 280.00 C&I/Res cross-jurisdictional study reference list and study tracker review; January Res EM&V mtg agenda development; preliminary 2022 C&I data review/QAQC Desar, Adrian 1/24/2023 4.50 140.00 630.00 Final 2023 compliance filing review, EERMC mtg. follow-ups; preliminary 2022 C&I data review/QAQC Desar, Adrian 1/25/2023 6.00 140.00 Updated EM&V study tracker review; research on relevant PA/NJ EM&V studies for 2024-2026 EE Plan commitments tracker development; MPS-BCR Model mapping table development for MPS refresh Desar, Adrian 1/25/2023		and notetaking; reframing communities and equity;	ng of EERMC priorities fo C&I meeting topic and	r underserved	d		
Dunsky and RI Energy feedback review; C&I data reporting - end use and program level reporting updates sesar, Adrian 1/18/2023 2.50 140.00 350.00 2024-2026 EERMC Priorities memo updates - edits for EERMC feedback to date; 2023 RI program data reporting updates - C&I data report template updates, installed measure mapping to BCR model measures, program-level reporting sheet development; MPS measure mapping extraction for Dunsky sesar, Adrian 1/19/2023 4.00 140.00 560.00 MPS measure/BCR measure mapping for MPS refresh; 2023 RI program data reporting updates - C&I data report template updates, installed measure mapping to BCR model measures, program-level reporting sheet development; sesar, Adrian 1/20/2023 1.50 140.00 210.00 2023 RI program data reporting updates - C&I data report template updates, installed measure mapping to BCR model measures, program-level reporting sheet development; sesar, Adrian 1/23/2023 2.00 140.00 280.00 C&I/Res cross-jurisdictional study reference list and study tracker review; January Res EM&V mtg agenda development; preliminary 2022 C&I data review/QAQC sesar, Adrian 1/24/2023 4.50 140.00 630.00 Final 2023 compliance filing review, EERMC mtg. follow-ups; preliminary 2022 year-end Residential and C&I data review and data report development; 2023 EE Plan commitments tracker development; MPS-BCR Model mapping table development for MPS refresh study tracker review; research on relevant PA/NJ EM&V studies for 2024-2026 EE Plan development; Monthly Residential EM&V prey/call/follow ups; preliminary 2022 year-end Residential and C&I data review and data report development; on the study tracker development; and C&I data review and data report development; 2023 EE Plan commitments tracker development - commitments extraction from Plan main text and attachments 3, 4, 8, 9	Caesar, Adı	rian	1/13/2023	3.50	140.00	490.00	
Adrian 1/18/2023 2.50 140.00 350.00 2024-2026 EERMC Priorities memo updates - edits for EERMC feedback to date; 2023 RI program data reporting updates - C&I data report template updates, installed measure mapping to BCR model measures, programlevel reporting sheet development; MPS measure mapping extraction for Dunsky Duns		Dunsky and RI Energy fe	eedback review; C&I data				
2024-2026 EERMC Priorities memo updates - edits for EERMC feedback to date; 2023 RI program data reporting updates - C&I data report template updates, installed measure mapping to BCR model measures, program-level reporting sheet development; MPS measure mapping extraction for Dunsky	Caesar, Adı		·	2.50	140.00	350.00	
MPS measure/BCR measure mapping for MPS refresh; 2023 RI program data reporting updates - C&I data report template updates, installed measure mapping to BCR model measures, program-level reporting sheet development; Desar, Adrian 1/20/2023 1.50 140.00 210.00 2023 RI program data reporting updates - C&I data report template updates, installed measure mapping to BCR model measures, program-level reporting sheet development; Desar, Adrian 1/23/2023 2.00 140.00 280.00 C&I/Res cross-jurisdictional study reference list and study tracker review; January Res EM&V mtg agenda development; preliminary 2022 C&I data review/QAQC Desar, Adrian 1/24/2023 4.50 140.00 630.00 Final 2023 compliance filing review, EERMC mtg. follow-ups; preliminary 2022 year-end Residential and C&I data review and data report development; 2023 EE Plan commitments tracker development; MPS-BCR Model mapping table development for MPS refresh Desar, Adrian 1/25/2023 6.00 140.00 840.00 Updated EM&V study tracker review; research on relevant PA/NJ EM&V studies for 2024-2026 EE Plan development; Mothly Residential EM&V prep/call/follow ups; preliminary 2022 year-end Residential and C&I data review and data report development; 2023 EE Plan commitments tracker development tracker development - commitments extraction from Plan main text and attachments 3, 4, 8, 9		date; 2023 RI program of updates, installed measu level reporting sheet dev	data reporting updates - ure mapping to BCR mod	C&I data repo el measures,	ort template program-		
data reporting updates - C&I data report template updates, installed measure mapping to BCR model measures, program-level reporting sheet development; sesar, Adrian 1/20/2023 1.50 140.00 210.00 2023 RI program data reporting updates - C&I data report template updates, installed measure mapping to BCR model measures, program-level reporting sheet development; sesar, Adrian 1/23/2023 2.00 140.00 280.00 C&I/Res cross-jurisdictional study reference list and study tracker review; January Res EM&V mtg agenda development; preliminary 2022 C&I data review/QAQC sesar, Adrian 1/24/2023 4.50 140.00 630.00 Final 2023 compliance filing review, EERMC mtg. follow-ups; preliminary 2022 year-end Residential and C&I data review and data report development; 2023 EE Plan commitments tracker development; MPS-BCR Model mapping table development for MPS refresh sesar, Adrian 1/25/2023 6.00 140.00 840.00 Updated EM&V study tracker review; research on relevant PA/NJ EM&V studies for 2024-2026 EE Plan development; Monthly Residential EM&V prep/call/follow ups; preliminary 2022 year-end Residential and C&I data review and data report development; 2023 EE Plan commitments tracker development review and data report development set and attachments 3, 4, 8, 9	Caesar, Adı	rian	1/19/2023	4.00	140.00	560.00	
2023 RI program data reporting updates - C&I data report template updates, installed measure mapping to BCR model measures, program-level reporting sheet development; sesar, Adrian 1/23/2023 2.00 140.00 280.00 C&I/Res cross-jurisdictional study reference list and study tracker review; January Res EM&V mtg agenda development; preliminary 2022 C&I data review/QAQC sesar, Adrian 1/24/2023 4.50 140.00 630.00 Final 2023 compliance filing review, EERMC mtg. follow-ups; preliminary 2022 year-end Residential and C&I data review and data report development; 2023 EE Plan commitments tracker development; MPS-BCR Model mapping table development for MPS refresh sesar, Adrian 1/25/2023 6.00 140.00 840.00 Updated EM&V study tracker review; research on relevant PA/NJ EM&V studies for 2024-2026 EE Plan development; Monthly Residential EM&V prep/call/follow ups; preliminary 2022 year-end Residential and C&I data review and data report development; 2023 EE Plan commitments tracker development - commitments extraction from Plan main text and attachments 3, 4, 8, 9		data reporting updates - measure mapping to BC	C&I data report templat	e updates, in	stalled		
updates, installed measure mapping to BCR model measures, program-level reporting sheet development; aesar, Adrian 1/23/2023 2.00 140.00 280.00 C&I/Res cross-jurisdictional study reference list and study tracker review; January Res EM&V mtg agenda development; preliminary 2022 C&I data review/QAQC aesar, Adrian 1/24/2023 4.50 140.00 630.00 Final 2023 compliance filing review, EERMC mtg. follow-ups; preliminary 2022 year-end Residential and C&I data review and data report development; 2023 EE Plan commitments tracker development; MPS-BCR Model mapping table development for MPS refresh aesar, Adrian 1/25/2023 6.00 140.00 840.00 Updated EM&V study tracker review; research on relevant PA/NJ EM&V studies for 2024-2026 EE Plan development; Monthly Residential EM&V prep/call/follow ups; preliminary 2022 year-end Residential and C&I data review and data report development; 2023 EE Plan commitments tracker development - commitments extraction from Plan main text and attachments 3, 4, 8, 9	Caesar, Adı	rian	1/20/2023	1.50	140.00	210.00	
C&I/Res cross-jurisdictional study reference list and study tracker review; January Res EM&V mtg agenda development; preliminary 2022 C&I data review/QAQC Desar, Adrian 1/24/2023 4.50 140.00 630.00 Final 2023 compliance filing review, EERMC mtg. follow-ups; preliminary 2022 year-end Residential and C&I data review and data report development; 2023 EE Plan commitments tracker development; MPS-BCR Model mapping table development for MPS refresh Desar, Adrian 1/25/2023 6.00 140.00 840.00 Updated EM&V study tracker review; research on relevant PA/NJ EM&V studies for 2024-2026 EE Plan development; Monthly Residential EM&V prep/call/follow ups; preliminary 2022 year-end Residential and C&I data review and data report development; 2023 EE Plan commitments tracker development - commitments extraction from Plan main text and attachments 3, 4, 8, 9		updates, installed measu	ire mapping to BCR mod				
January Res EM&V mtg agenda development; preliminary 2022 C&I data review/QAQC alesar, Adrian 1/24/2023 4.50 140.00 630.00 Final 2023 compliance filing review, EERMC mtg. follow-ups; preliminary 2022 year-end Residential and C&I data review and data report development; 2023 EE Plan commitments tracker development; MPS-BCR Model mapping table development for MPS refresh alesar, Adrian 1/25/2023 6.00 140.00 840.00 Updated EM&V study tracker review; research on relevant PA/NJ EM&V studies for 2024-2026 EE Plan development; Monthly Residential EM&V prep/call/follow ups; preliminary 2022 year-end Residential and C&I data review and data report development; 2023 EE Plan commitments tracker development - commitments extraction from Plan main text and attachments 3, 4, 8, 9	Caesar, Adı	rian	1/23/2023	2.00	140.00	280.00	
Final 2023 compliance filing review, EERMC mtg. follow-ups; preliminary 2022 year-end Residential and C&I data review and data report development; 2023 EE Plan commitments tracker development; MPS-BCR Model mapping table development for MPS refresh desar, Adrian 1/25/2023 6.00 140.00 840.00 Updated EM&V study tracker review; research on relevant PA/NJ EM&V studies for 2024-2026 EE Plan development; Monthly Residential EM&V prep/call/follow ups; preliminary 2022 year-end Residential and C&I data review and data report development; 2023 EE Plan commitments tracker development - commitments extraction from Plan main text and attachments 3, 4, 8, 9		January Res EM&V mtg					
2022 year-end Residential and C&I data review and data report development; 2023 EE Plan commitments tracker development; MPS-BCR Model mapping table development for MPS refresh esar, Adrian 1/25/2023 6.00 140.00 840.00 Updated EM&V study tracker review; research on relevant PA/NJ EM&V studies for 2024-2026 EE Plan development; Monthly Residential EM&V prep/call/follow ups; preliminary 2022 year-end Residential and C&I data review and data report development; 2023 EE Plan commitments tracker development - commitments extraction from Plan main text and attachments 3, 4, 8, 9	Caesar, Adı	rian	1/24/2023	4.50	140.00	630.00	
Updated EM&V study tracker review; research on relevant PA/NJ EM&V studies for 2024-2026 EE Plan development; Monthly Residential EM&V prep/call/follow ups; preliminary 2022 year-end Residential and C&I data review and data report development; 2023 EE Plan commitments tracker development - commitments extraction from Plan main text and attachments 3, 4, 8, 9		2022 year-end Residenti development; 2023 EE F	al and C&I data review a lan commitments tracke	and data repo r developmen	rt		
studies for 2024-2026 EE Plan development; Monthly Residential EM&V prep/call/follow ups; preliminary 2022 year-end Residential and C&I data review and data report development; 2023 EE Plan commitments tracker development - commitments extraction from Plan main text and attachments 3, 4, 8, 9	Caesar, Adı	rian	1/25/2023	6.00	140.00	840.00	
		studies for 2024-2026 El prep/call/follow ups; pre review and data report of development - commitme	E Plan development; Mor liminary 2022 year-end I levelopment; 2023 EE Pl	nthly Resident Residential an an commitme	tial EM&V Id C&I data ents tracker		
	Caesar, Adı		1/26/2023	2.50	140.00	350.00	

Project	863223-0007525.0	0 Rhode Island EERMC	- 2023		Invoice	000000316981
	one-pager review; C- TRM database updat	· · · · · · · · · · · · · · · · · · ·	ERMC priorities check in - upo	feedback, coming Res		
Caesar, Ad	Irian	1/27/2023	3.00	140.00	420.00	
	end data report analy February agenda dev	odates, MPS refresh measu ysis/review; February C&I s relopment, Josh transition v al 2023 EE Plan compliance ata report updates;	sector team pla work, deep div	anning - ve meeting		
Caesar, Ad	Irian	1/30/2023	3.50	140.00	490.00	
	data review; C&I rep program level data u	ar-End Res data report upda orting workbook updates - pdates, BCR model measur measures data, program a ;	end use savin e reclassificati	gs analysis, ion and		
Caesar, Ad	Irian	1/31/2023	4.00	140.00	560.00	
	level data updates, B installed measures d	ook updates - end use savi CR model measure reclass ata, program and measure- e Study SOW v2 review an	ification and m -level data visu	napping to		
Johnson, C	Craig	1/4/2023	.50	193.00	96.50	
		with RIE to work on Januar nd planning timeline. Coord ting.				
Johnson, C	Craig	1/4/2023	2.50	193.00	482.50	
		Work on drafting revised var. Work on draft list of mee				
Johnson, C	Craig	1/6/2023	5.00	193.00	965.00	
	priorities for 3YP and priorities document, drafting a compariso in 3YP years, includir	n Sam and Adrian to discuss I 2024 Plan. Work on devel review Adrian draft and pro n of proposed and actual ti ng review of LCP standards deadlines interact with Co	opment of Cou ovide edits. We melines for ke for deadlines	uncil ork on y activities and		
Johnson, C	Craig	1/9/2023	2.75	193.00	530.75	
	Update and continue with RIE. Finalize init	for planning timeline, mee to flesh out proposed time tial proposal on timeline and tion. Draft and distribute re January.	eline following d distribute to	meeting RIE for		
Johnson, C	Craig	1/10/2023	.25	193.00	48.25	
	scheduling interview.		Fellow candida	ate for		
Johnson, C	-	1/13/2023	1.50	193.00	289.50	
		I Energy Fellow applicant coions, conduct interview. Fo				
Johnson, C	Craig	1/23/2023	.25	193.00	48.25	
	Coordinate w/ Sam a meetings.	nd Steve on schedule for s	tanding check	-in		
Johnson, C	Craig	1/27/2023	1.00	193.00	193.00	
	Onboarding work for discussion w/ Cindy a	Mike Guerard Energy fellogand Sam re: same.	w - review doo	cuments,		
Keller, Mic	helle	1/4/2023	.50	206.00	103.00	

Project	863223-0007525.00	Rhode Island EERMC - 2	2023		Invoice	000000316981
Celler, Mich	elle	1/6/2023	.50	206.00	103.00	
	Adrian call: C&I Sector	& 2023 Plan Tracker				
eller, Mich	elle	1/10/2023	.50	206.00	103.00	
	Comparing RI plans for	lighting with changes com	ing out for I	MA, VT, CT		
eller, Mich	elle	1/11/2023	1.50	206.00	309.00	
	RI Plan Commitments T	racker revisions mtg & pre	ep			
Celler, Mich	elle	1/12/2023	1.00	206.00	206.00	
	January RI C&I Sector T	eam Call				
eller, Mich	elle	1/13/2023	.50	206.00	103.00	
	Extracting C&I Commitn	nents for Tracker workboo	k			
eller, Mich		1/23/2023	.50	206.00	103.00	
·	Extract RI C&I Commitn	nents for Tracker workboo	k			
eller, Mich		1/24/2023	.50	206.00	103.00	
,		ts Tracker; focus on C&I				
eller, Mich		1/25/2023	.50	206.00	103.00	
,	RI Dec 22 C&I Data rep					
eller, Mich	•	1/31/2023	1.00	206.00	206.00	
,	RI Commitments Tracke					
loss, Samu		1/3/2023	.50	206.00	103.00	
Jos, Jame	2023 kick off and team		.50	200.00	103.00	
oss, Samu		1/4/2023	2.00	206.00	412.00	
Jos, Jania		asoning for PUC inquiry re			112.00	
		mental budget request, ar				
oss, Samu		1/5/2023	2.00	206.00	412.00	
oss, sama		PUC call and follow up call			112.00	
	Desautel, prep and inter		is was enjoy	owski dila i i		
loss, Samu		1/6/2023	1.75	206.00	360.50	
		on and assignment, review			555.55	
		gy research mtg and guida				
	Keating			•		
loss, Samu	iel	1/9/2023	1.00	206.00	206.00	
	MPS next steps meeting	w/OER and Dunsky, prep	and follow	up re: same		
oss, Samu	el	1/10/2023	1.50	206.00	309.00	
	coord 3YP initial tasks w	orkplan for week; coord v	v/OER re: C	ouncil		
		eps; corresp. re: MPS nex				
loss, Samu	el	1/11/2023	1.00	206.00	206.00	
		nent, initial review of upda		e; framing		
	out MPS data refresh m	aterials list and coord next	t steps			
oss, Samu	el	1/12/2023	.75	206.00	154.50	
		eview and comments, tear				
		on of Council materials fol	lowing chan	iged		
_	information from PUC/R			206.22	440.00	
loss, Samu		1/13/2023	2.00	206.00	412.00	
_		orities for 3YP, Annual Pla				
loss, Samu		1/19/2023	.50	206.00	103.00	
		ouncil meetings in 2022 to				
	The state of the s	eas; review Council by-law	s for potent	iai edits		
C	based on same	1/24/2022	7-	206.00	15450	
loss, Samu		1/24/2023	.75	206.00	154.50	
		coord next steps incl TRM	ı, by-laws, p	oriorities,		
	budget, and other items		1.25	206.00	257.50	
	iei	1/25/2023	1.25	206.00	257.50	
Ross, Samu	and the second second	and the state of t				
oss, Samu		next steps, incl. TRM, carl nd prep for MPS kick off ar				

863223-0007525.00	Rhode Island EERMC	- 2023		Invoice	00000031698
	1/26/2023	.50	206.00	103.00	
•	next steps, incl. TRM, o	carbon pricing,	priorities,		
	1/27/2023	3.00	206.00	618 00	
				010.00	
early next wk, incl. MPS	S follow ups, meeting ag				
		1 50	206.00	200.00	
				309.00	
		agenda items,	TOHOW UP		
Totals		105.25		17,245.75	
Total Labor					17,245.75
			Total thi	s Task	\$22,745.50
03	Education Initiatives				
l Personnel					
		Hours	Rate	Amount	
n	1/26/2023	.50	140.00	70.00	
		g, EERMC webs	site redesign		
ig	1/10/2023	.25	193.00	48.25	
			ls,		
	re: next steps for vendo			110 25	
		./5		118.25	118.25
rotal Labor					110.23
			Total thi	is Took	¢2.452.00
			rotar tili	5 IdSK	\$2,453.00
			Total this	Phase	\$26,823.75
002					
	System Reliability Procu	urement			
01	System Reliability Procu Council Representation				
01 I Personnel					
			Rate		
l Personnel	Council Representation 1/18/2023	Hours 1.50	206.00	Amount 309.00	
Personnel prep for, present at SR	Council Representation 1/18/2023 P TWG regarding Expect	Hours 1.50	206.00		
Prep for, present at SR same and other SRT TV	Council Representation 1/18/2023 P TWG regarding Expect	Hours 1.50 ted Valuation, o	206.00	309.00	
prep for, present at SR same and other SRT To Totals	Council Representation 1/18/2023 P TWG regarding Expect	Hours 1.50	206.00		309.00
Prep for, present at SR same and other SRT TV	Council Representation 1/18/2023 P TWG regarding Expect	Hours 1.50 ted Valuation, o	206.00	309.00	309.00
prep for, present at SR same and other SRT To Totals	Council Representation 1/18/2023 P TWG regarding Expect	Hours 1.50 ted Valuation, o	206.00	309.00	309.00
prep for, present at SR same and other SRT To Totals	Council Representation 1/18/2023 P TWG regarding Expect WG agenda items	Hours 1.50 ted Valuation, o	206.00 discuss	309.00	
prep for, present at SR same and other SRT Totals Total Labor	Council Representation 1/18/2023 P TWG regarding Expect	Hours 1.50 ted Valuation, o	206.00 discuss	309.00	
prep for, present at SR same and other SRT Totals Total Labor	Council Representation 1/18/2023 P TWG regarding Expect WG agenda items	Hours 1.50 ted Valuation, o	206.00 discuss	309.00	
prep for, present at SR same and other SRT Totals Total Labor	Council Representation 1/18/2023 P TWG regarding Expect WG agenda items	Hours 1.50 ted Valuation, 6 1.50 Oversight	206.00 discuss Total this	309.00 309.00 is Task — — — — — —	
prep for, present at SR same and other SRT TO TOTAL LABOR 02 I Personnel	Council Representation 1/18/2023 P TWG regarding Expect WG agenda items Plan Development and 1/5/2023	Hours 1.50 ted Valuation, of the valuation of the valuati	206.00 discuss Total this	309.00 309.00 s Task — — — — — —	
	cont coord re: planning etc MPS kick off call, prep a early next wk, incl. MPS in, COuncil budget w/C RIE/OER check in call, w/CJ re: same; coord. Totals Total Labor 03 I Personnel n Educational video rollout for EE program resourcing Review Brand and Com	cont coord re: planning next steps, incl. TRM, of etc 1/27/2023 MPS kick off call, prep and follow up re: same; early next wk, incl. MPS follow ups, meeting again, COuncil budget w/C Johnson, etc. 1/31/2023 RIE/OER check in call, prep re: same incl. dev w/CJ re: same; coord. work streams for wk Totals Total Labor 1/26/2023 Educational video rollout, Energy Expo planning for EE program resources in the program of th	cont coord re: planning next steps, incl. TRM, carbon pricing, etc 1/27/2023 3.00 MPS kick off call, prep and follow up re: same; coord work for early next wk, incl. MPS follow ups, meeting agendas for RIE/in, COuncil budget w/C Johnson, etc. 1/31/2023 1.50 RIE/OER check in call, prep re: same incl. dev agenda items, w/CJ re: same; coord. work streams for wk Totals 105.25 Total Labor Beducation Initiatives I Personnel Hours n 1/26/2023 .50 Educational video rollout, Energy Expo planning, EERMC webs for EE program resources ig 1/10/2023 .25 Review Brand and Communication Development cost proposa discussion with Rachel re: next steps for vendor selection. Totals .75	cont coord re: planning next steps, incl. TRM, carbon pricing, priorities, etc 1/27/2023 3.00 206.00 MPS kick off call, prep and follow up re: same; coord work for day and early next wk, incl. MPS follow ups, meeting agendas for RIE/OER check in, COuncil budget w/C Johnson, etc. 1/31/2023 1.50 206.00 RIE/OER check in call, prep re: same incl. dev agenda items, follow up w/CJ re: same; coord. work streams for wk Totals 105.25 Total Labor Total thi 03 Education Initiatives I Personnel Hours Rate n 1/26/2023 .50 140.00 Educational video rollout, Energy Expo planning, EERMC website redesign for EE program resources g 1/10/2023 .25 193.00 Review Brand and Communication Development cost proposals, discussion with Rachel re: next steps for vendor selection. Totals .75 Total Labor	cont coord re: planning next steps, incl. TRM, carbon pricing, priorities, etc 1/27/2023 3.00 206.00 618.00 MPS kick off call, prep and follow up re: same; coord work for day and early next wk, incl. MPS follow ups, meeting agendas for RIE/OER check in, COuncil budget w/C Johnson, etc. 1/31/2023 1.50 206.00 309.00 RIE/OER check in call, prep re: same incl. dev agenda items, follow up w/CJ re: same; coord. work streams for wk Totals 105.25 17,245.75 Total Labor Total this Task 105 206.00 309.00 RIE/OER check in call, prep re: same incl. dev agenda items, follow up w/CJ re: same; coord. work streams for wk Totals 105.25 17,245.75 Total Labor Total this Task 105 206.00 309.00 RIE/OER check in call, prep re: same incl. dev agenda items, follow up w/CJ re: same; coord. work streams for wk Totals 105.25 17,245.75 Total this Task 106 205 17,245.75 107 206 206 200 309.00 Reducational Labor Total this Task Amount of 1/26/2023 5.0 140.00 70.00 Educational video rollout, Energy Expo planning, EERMC website redesign for EE program resources 107 1/10/2023 2.5 193.00 48.25 Review Brand and Communication Development cost proposals, discussion with Rachel re: next steps for vendor selection. Totals .75 118.25

Ross, Samuel Ross, Samuel		1/12/2023 3YP priorities, support timelin 1/26/2023 presentation for AESP call w/0	1.25	206.00 206.00 same	103.00 257.50	
Ross, Samuel	SRP TWG and RI Totals	3YP priorities, support timelin 1/26/2023 presentation for AESP call w/0	e finalization 1.25 C Gill, prep re:	206.00		
Ross, Samuel	SRP TWG and RI Totals	1/26/2023 presentation for AESP call w/0	1.25 C Gill, prep re:		257.50	
	Totals	presentation for AESP call w/o	C Gill, prep re:		257.50	
	Totals			same		
		abor	3.00			
	Total La	abor			618.00	
						618.00
				Total this	s Task	\$618.00
				Total this	Phase	\$927.00
 Phase	003	Regulatory Proceedings				
– – – – Task	01	Council Representation				
	-	Council Representation				
Professional	Personnei				A	
Jahman C '	_	1/11/2022	Hours	Rate	Amount	
Johnson, Crai	-	1/11/2023	1.25	193.00	241.25	
	and rate setting. [ision, and RIE re: updates to Debrief meeting with Sam and to council budget.				
Johnson, Crai	•	1/20/2023	.75	193.00	144.75	
	-	UC, and RIE to discuss update	_		-	
Ross, Samuel	- 1	1/11/2023	2.50	206.00	515.00	
	Updated informati and Steve, interna	ion from PUC re: Council bud		w/Marisa		
	Totals	ar actifici	4.50		901.00	
	Total La	abor	1.50		501.00	901.00
	. Jun 10					
				Total this	s Task	\$901.00
– – – – Task	02	Develop Technical Mate	— — — — — erials			
Professional	Personnel					
			Hours	Rate	Amount	
Johnson, Crai	g	1/3/2023	.50	193.00	96.50	
		oints regarding EERMC increm filing extension to share with		request and		
Johnson, Crai	-	1/4/2023	2.00	193.00	386.00	
	Reviewed recent r legal to coordinate standards update	regulatory updates on 2023 E e items related to Council bud process. Coordinate with Mar 15 to review timeline of LCP S an.	lget, target filir isa regarding t	ng, and LCP hese items.		
Johnson, Crai	g	1/6/2023	2.00	193.00	386.00	
	Analysis on Counc approved compare potential need for analysis was to de MPS data refresh	cil's max budget allocation based to Council's approved budge additional funds for MPS data emonstrate whether approving would or would not cause the ocation per legislation.	get with and wi a refresh. Purp g additional fur	thout ose of nding for the		
Johnson, Crai		1/12/2023	1.25	193.00	241.25	
	Review Draft Com	ppliance filing electric and gas draft compliance filing numbe	table attachme	ents from	211123	

Project	863223-000752	5.00 Rhode Island EERMC -	2023		Invoice	00000031698
Johnson, Ci	raig	1/17/2023	1.75	193.00	337.75	
		e filing and update analysis on				
		ict analysis on historical differe				
lahmass C		budget to support understand	_		40.25	
Johnson, C	=	1/23/2023	.25	193.00	48.25	
Johnson C		risa on Council extension for ta		102.00	144 75	
Johnson, C	_	1/24/2023	.75	193.00	144.75	
		liance Filings on 2023 Plan. Dis Send request for final BC Mode		Salli dilu		
Johnson, Cı		1/27/2023	.50	193.00	96.50	
	_	e filing, division letter, and ass			30.30	
	Models.	say annual receipt and doo				
Ross, Samu	iel	1/12/2023	.75	206.00	154.50	
	analyze council op budget from PUC	otions in light of draft updated data request	numbers re:	Council		
	Totals		9.75		1,891.50	
	Total La	bor				1,891.50
				Total th	is Task	\$1,891.50
						T-,-3=.00
				Total this	Phase	\$2,792.50
 Phase	_ 004	Council Sponsored Meeti	 ings and Mate	 erials		
Task	01	Meeting Attendance				
Profession	nal Personnel					
			Hours	Rate	Amount	
Caesar, Adı		1/19/2023	2.00	140.00	280.00	
		eeting/note taking		.=		
Johnson, C	_	1/19/2023	1.00	193.00	193.00	
D C	=	nt at EERMC January meeting	2.00	206.00	640.00	
Ross, Samu		1/19/2023	3.00	206.00	618.00	
	•	ssions and present at ExCom a	and EERMC Ja	n 2023		
	meetings Totals		6.00		1,091.00	
	Total La	hor	0.00		1,091.00	1,091.00
	i Otal La					1,071.00
				Total th	is Task	\$1,091.00
Task	02	Develop Technical Mater	rials			
Profession	nal Personnel					
			Hours	Rate	Amount	
Caesar, Adı	ian	1/6/2023	1.00	140.00	140.00	
	EERMC meeting mupdates	naterials development, EERMC	regulatory ar	nd budget		
Caesar, Adr		1/10/2023	3.25	140.00	455.00	
	development - reg and EERMC bylaw	ession/January; EERMC mtg. a gulatory updates, EERMC budg s review and recommended ch presentation; EERMC remote m	et, Open mee nanges, 2024-	etings law -2026		

Project	863223-0007525.00	Rhode Island EERMC	- 2023		Invoice	000000316981
aesar, Adr	ian	1/11/2023	.50	140.00	70.00	
	C-Team working session development - regulator and EERMC bylaws revie EERMC Priorities presen	y updates, EERMC budg w and recommended cl	jet, Open mee	tings law		
Caesar, Adr		1/12/2023	1.50	140.00	210.00	
	January EERMC mtg ma priorities, regulatory and schedule; Planning time	l council budget updates				
aesar, Adr	ian	1/13/2023	2.75	140.00	385.00	
	January EERMC mtg ma priorities, regulatory and schedule; Planning time	I council budget updates				
Caesar, Adr	ian	1/17/2023	2.00	140.00	280.00	
	EERMC Mtg. materials d updates, TWG memo	evelopment - Regulator	y update, MPS	refresh		
Caesar, Adr		1/18/2023	.75	140.00	105.00	
	January EERMC Mtg. pre presentation planning - 2023 planning schedule					
Caesar, Adr		1/19/2023	1.50	140.00	210.00	
	January EERMC mtg. pro priorities feedback revie Council discussion, LEAL	w and integration into p	riorities word			
Caesar, Adr	ian EERMC bylaws updates	1/24/2023	.50	140.00	70.00	
ohnson, Cr	aig	1/4/2023	.50	193.00	96.50	
	Reviewed Council meeting.	ng material developmen	t needs for Ja	nuary		
ohnson, Cr	aig	1/6/2023	.25	193.00	48.25	
	Working session with Sa materials for January me		opment of Cou	ncil		
ohnson, Cr	-	1/10/2023	.50	193.00	96.50	
	Working session with Acmaterials development f	or Council's January me	eting and Janu	uary ExCom.		
ohnson, Cr	_	1/11/2023	.25	193.00	48.25	
	Review RIE draft regula					
ohnson, Cr	_	1/12/2023	.50	193.00	96.50	
	Check-in meeting with S Chart timeline for wrapp	ing up material develop	ment.	•	CTT TO	
ohnson, Cr	=	1/13/2023	3.50	193.00	675.50	
	Develop key activities ar building off work on fina RIE. Review and provide work on regulatory upda and Adrian re: same.	lizing and confirming ke feedback on priorities	ey planning da slide deck. Init	tes with ial draft		
ohnson, Cr	_	1/17/2023	1.00	193.00	193.00	
	Develop, review, and fin Council meeting, including and EE/SRP TWG memory	ng regulatory update, M				
ohnson, Cr	aig	1/18/2023	.50	193.00	96.50	
	Review and finalize EE/S meeting. Coordination w	·	for January Co	ouncil		
lohnson, Cr	aig	1/19/2023	.50	193.00	96.50	
	Review EERMC by-laws consideration			for ExCom		

Project 8632	223-0007525.00	Rhode Island EERMC	C - 2023		Invoice	00000031698
Johnson, Craig		1/27/2023	.25	193.00	48.25	
Updat TWG o		y Deliverables and Sch	edule slide decl	with EE		
Ross, Samuel		1/9/2023	1.00	206.00	206.00	
coord	and assign respor	nsibilities re: Council ma	aterials develop	ment for wk		
Ross, Samuel		1/13/2023	.50	206.00	103.00	
Revie	v first tranche of (Council materials prior t	to finalization			
Ross, Samuel		1/17/2023	2.25	206.00	463.50	
	, comment on, fir g (other than TW	nalize almost all remain G memo)	ing Council mat	terials for		
Ross, Samuel		1/18/2023	1.00	206.00	206.00	
Review	v, edit, finalize TV	VG memo for posting				
Ross, Samuel		1/19/2023	.50	206.00	103.00	
review		for potential edits base				
	Totals		26.75		4,502.25	
	Total Labor					4,502.25
				Total th	is Task	\$5,354.75
– – – – – – Task	03	Other Council Responsi	 ibilities			
Professional Pers	onnel					
			Hours	Rate	Amount	
Johnson, Craig		1/23/2023	.25	193.00	48.25	
Revie	v annual report tii	meline, e-mails w/ Rach	nel re: same.			
	Totals		.25		48.25	
	Total Labor					48.25
				Total th	is Task	\$242.00
				Total this	s Phase	\$6,687.75
– – – – – – Phase		Research, Analysis, and		 Su		
Professional Pers		, , ,				
-			Hours	Rate	Amount	
Johnson, Craig		1/3/2023	.25	193.00	48.25	
· -	in with Sam and	Adrian on data compilir				
Johnson, Craig		1/10/2023	1.75	193.00	337.75	
Discus realloc		recommendations to roaccommodate MPS da				
Johnson, Craig	iolaci meeting on	1/10/2023	4.75	193.00	916.75	
Month for Jar impler upcom	nuary sector team nentation oversighing materials to r	nternal residential sector meeting, key topics fo nt and planning activition eview. Prep for January	or team - discus r discussion du es, regulatory u y res sector tea	sed prep ring 2023 pdates, and m meeting -	910.73	
		eeting topics, work on u scussion at January me		mitments		

Project	863223-0007525.00	Rhode Island EERMC	- 2023		Invoice	000000316981
lohnson,	Craig	1/11/2023	2.25	193.00	434.25	
	Discuss with Sam, ma compromised proposa involvement and upda Develop updated form focus on commitment session with Adrian ar	estments on planning time ke amendments to schedual. Coordinate with Glenn rates on participation with a nat for implementation and s tracker for 2023 programal Michelle to review updating feedback from sector to	ule, and recircine: residential residential EM8 doversight tramoversight. Wated format, au	ulate sector team &V group. icker, with /orking		
ohnson,		1/12/2023	6.75	193.00	1,302.75	
	for both council meeti and SRP. Monthly Jan	and drafting official Coung ng and topics as well as k uary Sector team meeting ow-up items, associated r	ey planning da , consolidate a	ates for EE		
Johnson,	_	1/13/2023	1.00	193.00	193.00	
	Working sessions with Priorities document.	Sam and Adrian to works	shop first draft	of Council		
Johnson,	Craig	1/17/2023	3.25	193.00	627.25	
ŕ	Coordinate with Richa check-in. Review and	rd and Margie re: internal work on follow-up items f ng populating meeting top format.	rom January r	es sector		
Johnson,	=	1/18/2023	2.75	193.00	530.75	
	including continued w	ow-up items from January ork on updating commitm nble commitments to inclu	ents tracker fo	ormat and		
Johnson,	Craig	1/23/2023	2.25	193.00	434.25	
	team meetings, upcor	Richard and Margie. Discu ning data review, and pla n follow-up items from int neeting.	nning for 2024	l plan		
Johnson,	Craig	1/24/2023	4.25	193.00	820.25	
	priorities. Send reques Councilors. Work on fi team oversight. Discu populating residential	n and Sam re: development st for additional comment inalizing commitments tra- ssion w/ Adrian and Miche plan commitments into tra- ninary year-end data. Initi	on Council pri cker workbook elle re: same. I acker. Discuss	orities to c for sector Begin ion with		
Johnson,	Craig	1/27/2023	4.75	193.00	916.75	
	topics. Review prelimi distribute meeting age team meeting. Discus populating residential	on TWG meeting schedul nary year-end residential enda and materials for Fel sion w/ Adrian re: the san commitments into tracker	data report. D bruary residen ne. Continue w r.	evelop and tial sector vork on		
Johnson,	_	1/27/2023	1.25	193.00	241.25	
	the Council's budget s	et scenario analysis for de shorfall is and what option ersation with Sam re: sam	s are available	for making		
	Crain	1/31/2023	1.00	193.00	193.00	
Johnson,	Cruig		scamble list of	discussion		
Johnson,	Prep for bi-weekly che points and review with	eck-in w/ OER and RIE. As n Sam. Coordinate with M memo for RI Energy in de vices.	argie and Rich	ard on C-		
Johnson, Keating, C	Prep for bi-weekly che points and review with Team considerations in residential retrofit sen	n Sam. Coordinate with M memo for RI Energy in de vices. 1/6/2023	argie and Rich	ard on C-	70.00	

Project 863223	-0007525.00 Rhode Is	land EERMC - 2023		Invoice	000000316981
Social co	st of carbon write up				
Mosenthal, Philip	1/11/2	1.50	220.00	330.00	
research	on GHG policy and valuat	on			
Mosenthal, Philip	1/12/2	1.00	220.00	220.00	
research	and analysis IL CO2 valua	tion			
Mosenthal, Philip	1/13/2	2.25	220.00	495.00	
research	NY, CA, IL CO2 valuation	policies			
Mosenthal, Philip	1/23/2	1.25	220.00	275.00	
NY CO2 v	aluation research				
Mosenthal, Philip	1/24/2	2.00	220.00	440.00	
CO2 valu	ation research				
Ross, Samuel	1/17/2	1.25	206.00	257.50	
	nversation with Councilor other materials in advance	s Case and AnderBois to re se of Jan Council mtg	eview		
Ross, Samuel	1/19/2	.023 3.00	206.00	618.00	
Prep for, Council n		ey for working session in a	dvance of		
	Totals	52.25		10,156.75	
	Total Labor				10,156.75
			Total this Phase		\$10,156.75
			Total this	Project	\$47,387.75
			Total this Report		\$47,387.75

Margie Lynch/Core Energy Insights, Inc. 4445 E. Hoback River Road, Jackson, WY 83001

INVOICE

TO: Optimal Energy Inc. 10600 Route 116, Suite 3 Hinesburg, VT 05461 Invoice Number: CEI RI 1-2023
Invoice Date: January 31, 2023

OEI Project #: 7525

Work Performed for RI Energy Efficiency & Resource Management Council

Description of Ser		Amount	
Services Performed 01/01/2023 through	1/31/2023		
	<u>Hours</u>	Hourly Rate	Amount Due
LABOR - Regular Hours	8.75	\$193.00	\$1,688.75
LABOR - Travel Hours	0.00	\$96.50	\$0.00
Travel Expenses (See attached travel expense form for decomposition)	etails.)		\$0.00

TOTAL DUE

\$1,688.75

		001 - EE Program Planning & Implementation		002 - System Reliability Procurement						
Date	Description of Services	001-01 Council Representation	001-02 Implementation Oversight & Plan Development	001-03 Education Initiatives	002-01 Council Representation	002-02 Plan Development & Oversight	Travel Time	Sub-Total Regular Hrs.	Sub-Total Travel Hrs.	Total Hours
1/4/2023	Began equity commitments review		0.25					0.25	0.00	0.25
1/9/2023	Reviewed 2022 and 2023 equity commitments		1.50					1.50	0.00	1.50
1/10/2023	ů		1.00					1.00	0.00	1.00
1/11/2023			1.50					1.50	0.00	
	Participated in Res Sector Team meeting Began work on memo re: opportunities to boost contributions of Equity Working Group in 2024-2026 plan; participated in prep		1.00					1.00	0.00	1.00
	meeting for Res Sector Team		1.50					1.50	0.00	1.50
1/24/2023	Continued work on memo w/Equity Working Group recommendations		1.00					1.00	0.00	1.00
1/25/2023	Completed memo w/Equity Working Group recommendations		1.00					1.00	0.00	
								0.00	0.00	
	Total Hours	0.00	8.75	0.00	0.00	0.00	0.00	8.75	0.00	8.75
	Total Amount	\$0.00	\$1,688.75	\$0.00	\$0.00	\$0.00	\$0.00	\$1,688.75	0.00	\$1,688.75



EcoMetric Consulting, LLC 555 Exton Cms Exton, PA 19341 610.400.8600 admin@ecometricconsulting.com

INVOICE

BILLED TO

Project #

Invoice #

Sam Ross Optimal Energy - NV5 10600 Route 116, Suite 3 Hinesburg, VT 05461 TOTAL DUE

\$1,390.50

Project Name RI EEMRC Consultant

7525

1029-P1-23

Billing Period 01/01/2023 - 01/27/2023

Invoice Date

01/31/2023

Due Date

03/02/2023

Payment Terms

Net 30

Task Number	Description	Amount
Task 1	EM&V Oversight	\$1,390.50
Task 2	Program Design & Policy	\$0.00

Subtotal \$1,390.50

Invoice Total \$1,390.50

Invoice Number 1029-P1-23

Period 01/01/2023 - 01/27/2023

Project	Task	Person	Title	Month	Hours	Rate	Amou	int
RI EEMRC Consultant	EM&V Oversight	Salil Gogte	Partner	2023-01	0	\$ 220.00	\$	-
RI EEMRC Consultant	EM&V Oversight	Michael Frischmann	Partner	2023-01	0	\$ 220.00	\$	-
RI EEMRC Consultant	EM&V Oversight	Michael Honeychuck	Managing Consultant	2023-01	6.75	\$ 206.00	\$	1,390.50
RI EEMRC Consultant	EM&V Oversight	Bitul Sinha	Sr Engineer	2023-01	0	\$ 166.00	\$	-
RI EEMRC Consultant	EM&V Oversight	Cory Read	Data Scientist	2023-01	0	\$ 198.00	\$	-
Total					6.75		\$	1,390.50

Project	Task	Person	Title	Month	Hours	Rate	Amount	
RI EEMRC Consultant	Program Design & Policy	Salil Gogte	Partner	2023-01		0 \$ 220.00	\$	-
RI EEMRC Consultant	Program Design & Policy	Michael Frischmann	Partner	2023-01		0 \$ 220.00	\$	-
RI EEMRC Consultant	Program Design & Policy	Michael Honeychuck	Managing Consultant	2023-01		0 \$ 206.00	\$	-
RI EEMRC Consultant	Program Design & Policy	Bitul Sinha	Sr Engineer	2023-01		0 \$ 166.00	\$	-
RI EEMRC Consultant	Program Design & Policy			2023-01		0	\$	-
Total					-		\$	-

fname	local_date	hours	task	notes
				Invoice & discussions
				Measure life study SOW review
Michael Hoi	1/4/2023	1.25	EM&V Oversight	Emails
				Invoice & discussions
				Measure life study SOW review
Michael Ho	1/5/2023	1.25	EM&V Oversight	Emails
				Review updated study tracker
Michael Hoi	1/11/2023	1	EM&V Oversight	Assemble list of EM&V studies
				Compile list of EM&V studies in other jurisdictions
				Review study trackers
Michael Ho	1/20/2023	1.5	EM&V Oversight	Emails
Michael Hor	1/25/2023	1	EM&V Oversight	Monthly Res call with C-Team and RI Energy
				Monthly check-in with Adrian
Michael Ho	1/26/2023	0.75	EM&V Oversight	Emails

Energy Futures Group, Inc. PO Box 587 Hinesburg, VT 05461

INVOICE

TO: Optimal Energy Inc. 10600 Route 116, Suite 3

Hinesburg, VT 05461

Invoice Number: 5627

Invoice Date: January 31, 2023

OEI Project #: 7525

Work Performed for RI Energy Efficiency & Resource Management Council

Description of Services	Amount		
Services Performed 1/1/23 through 1/31/23			
LABOR - Regular Hours LABOR - Travel Hours	Hours 10.25 0.00	<u>Hourly Rate</u> \$206.00 \$103.00	Amount Due \$2,111.50 \$0.00
Travel Expenses (See attached travel expense form for detail	ils.)		\$0.00

TOTAL DUE

\$2,111.50

Energy Futures Group, Inc. Services Performed 1/1/23 through 1/31/23

001 - EE Program	Planning &	Implementation
UUI - LL FIUGIAII	ı Fiaililliy O	implementation

Date	Description of Services	001-01 Council Representation	001-02 Implementation Oversight & Plan Development	001-03 Education Initiatives	Travel Time	Sub-Total Regular Hrs.	Sub-Total Travel Hrs.	Total Hours
1/5/2023	Emails with RI staff; prep for RI lighting meeting		0.75			0.75	0.00	0.75
	RI lighting meeting		1.00			1.00	0.00	1.00
1/10/2023	MA lighting inquiry; update C&I lighting meeting schedule		0.50			0.50	0.00	0.50
1/10/2023	Res Sector team		1.00			1.00	0.00	1.00
	Respond to Travis re: LLLC evaluation. Provide insights from CT							
1/11/2023	study.		0.50			0.50	0.00	0.50
1/12/2023	C&I sector meeting		1.00			1.00	0.00	1.00
1/12/2023	Res Sector meeting		1.00			1.00	0.00	1.00
1/16/2023	Review RFPs		0.50			0.50	0.00	0.50
1/23/2023	Review RFPs for equity language. C Team check in meeting.		1.25			1.25	0.00	1.25
1/24/2023	EM&V, data check in with Glenn Reed		0.50			0.50	0.00	0.50
1/26/2023	Update status with Glenn Reed		0.25			0.25	0.00	0.25
1/31/2023	Research, review RFP, draft RFP elements memo		2.00			2.00	0.00	2.00
						0.00	0.00	0.00
						0.00	0.00	0.00
						0.00	0.00	0.00
						0.00	0.00	0.00
	Total Hours	0.00	10.25	0.00	0.00	10.25	0.00	10.25
	Total Amount	\$0.00	\$2,111.50	\$0.00	\$0.00	\$2,111.50	0.00	\$2,111.50

Payable to: Jennifer Chiodo

JLC Consulting, LLC 52 Bent Creek Road Hinesburg, VT 05461

INVOICE

TO: Optimal Energy Inc. 10600 Route 116, Suite 3 Hinesburg, VT 05461 Invoice Number: R-23.01
Invoice Date: January 31, 2023

OEI Project #: 7525

Amount

Work Performed for RI Energy Efficiency & Resource Management Council

Description of Services

1			1 11110 0111
Services Performed 1/1/23 through 1/31/23			
LABOR - Regular Hours LABOR - Travel Hours	Hours 1.50 0.00	<u>Hourly Rate</u> \$206.00 \$103.00	Amount Due \$309.00 \$0.00

Travel Expenses \$0.00 (See attached travel expense form for details.)

TOTAL DUE \$309.00

Payable to: Jennifer Chiodo
Services Performed 1/1/23 through 1/31/23

		001 - EE Program Planning & Implementation						
Date	Description of Services	001-01 Council Representation	001-02 Implementation Oversight & Plan Development		Travel Time	Sub-Total Regular Hrs.	Sub-Total Travel Hrs.	Total Hours
1/12/2023	C&I Sector call prep and call		1.50			1.50	0.00	1.50
						0.00	0.00	0.00
						0.00	0.00	0.00
	Total Hours	0.00	1.50	0.00	0.00	1.50	0.00	1.50
	Total Amount	\$0.00	\$309.00	\$0.00	\$0.00	\$309.00	0.00	\$309.00

Ralph Prahl 7001 Stanhope Place, University Park FL 34201

INVOICE

TO: Optimal Energy Inc. 10600 Route 116, Suite 3

Hinesburg, VT 05461

Invoice Number: 35

Invoice Date: January 31, 2023

\$0.00

OEI Project #: 7525

Work Performed for RI Energy Efficiency & Resource Management Council

Description of Ser	Amount		
Services Performed 1/01/23 through 1/3	31/23		
LABOR - Regular Hours LABOR - Travel Hours	<u>Hours</u> 3.00 0.00	Hourly Rate \$206.00 \$103.00	Amount Due \$618.00 \$0.00

Travel Expenses (See attached travel expense form for details.)

> **TOTAL DUE** \$618.00

Ralph Prahl

Services performed 1/01/23 through 1/31/23

		001 - EE Program Planning & Implementation						
Date	Description of Services	001-01 Council Representation	001-02 Implementation Oversight & Plan Development	001-03 Education Initiatives	Travel Time	Sub-Total Regular Hrs.	Sub-Total Travel Hrs.	Total Hours
1/11/2023	C&I study one-pagers		0.50			0.50	0.00	0.50
1/23/2023	study tracker updates; interstate coordination issue		1.00			1.00	0.00	1.00
1/24/2023	prep for res mtg		0.25			0.25	0.00	0.25
1/25/2023	Res studies check-in call + prep		1.25			1.25	0.00	1.25
						0.00	0.00	0.00
						0.00	0.00	0.00
						0.00	0.00	0.00
						0.00	0.00	0.00
	Total Hours	0.00	3.00	0.00	0.00	3.00	0.00	3.00
	Total Amount	\$594.00	\$0.00	\$0.00	\$0.00	\$594.00	0.00	\$594.00

Rachel Sholly Energy Consulting 48 Hudson St. Providence, RI 02909

INVOICE

TO: Optimal Energy Inc. 10600 Route 116, Suite 3

Hinesburg, VT 05461

61 Invoice Number:

January 30, 2023 Invoice Date:

OEI Project #: 7525

Work Performed for RI Energy Efficiency & Resource Management Council

Description of So	ervices		Amount
Services Performed 1/01/23 through 1/	31/23		
LABOR - Regular Hours LABOR - Admin Hours LABOR - Travel Hours	<u>Hours</u> 21.00 0.00 0.00	Hourly Rate \$161.00 \$80.00 \$80.50	Amount Due \$3,381.00 \$0.00 \$0.00
Travel Expenses (See attached travel expense form for	21.00 details.)		\$0.00
	TOTAL DUE		\$3,381.00

Date	Description of Services	001-03 Education Initiatives	004-01 Meeting Attendance	004-02 Develop Technical Materials	004-03 Other Council Responsibilities	005-00 Research, Analysis & other Council Support	006-00 Administrative	Travel	Sub-Total Regular Hrs.	Sub-Total Travel Hrs.	Sub- Total Admin Hrs.	Total Hours
1/3/2023	EdComm mtg prep	0.50							0.50		0.00	0.50
	C-team planning re: Council mtg materials, education activities	0.75							0.75		0.00	0.75
1/6/2023	Energy expo mtg; Drafted EdComm agenda, sent to OER	1.25							1.25		0.00	1.25
1/9/2023	Rescheduled EdComm mtg; Reviewed EERMC, EEAC bylaws & OMA notes, suggested amendments to EERMC bylaws C-team planning re: Council mtg materials; Correspondence re:	0.50		1.50					2.00		0.00	2.00
:	suggested dates for 2023 LEAD sessions; Correspondence w/S. Porder re: Energy Expo seminar	0.25		1.00					1.25		0.00	1.25
	Additional bylaws review & correspondence	0.50							0.50		0.00	0.50
1/12/2023	C-team planning re: Council mtg materials, budget; Reviewed relevant materials & compiled list of potential LEAD topics	0.50		1.75					1.75		0.00	1.75
	Energy Expo check-in w/OER	0.50 0.75							0.50 0.75		0.00	0.50 0.75
	Energy Expo planning/prep C-team planning re: Council mtg materials, LEAD topics, bylaws updates, follow-up notes & correspondence; EERMC mtg - virtual attendance for brand RFP & budget discussions	0.75		1.25					1.75		0.00	1.75
	EdComm mtg rescheduling; Energy Expo planning - brochure & organization invite list	1.50		-					1.50		0.00	1.50
1/22/2023	Drafted timelines for 2023 edu work; Correspondence re: events budget/RFP; Drafted Annual Report timeline & sent for feedback	2.00			1.00				3.00		0.00	3.00
1/24/2023	Correspondence re: video rollout; Correspondence re: Annual Report timeline; Expo website copy review/correspondence	0.50			0.25				0.75		0.00	0.75
1/26/2023	C-team planning re: edu activities; Correspondence re: video rollout; Expo website copy drafting & correspondence	3.00							3.00		0.00	3.00
1/2//2023	Correspondence re: video rollout	0.25							0.25			0.25
	Worked on preparing videos for upload to YouTube & website Correspondence re: video rollout; Shared initial annual report	1.00							1.00			1.00
	development materials	0.50							0.50	_		0.50
ļ	Total Hours	14.25	0.00	5.50	1.25	0.00	0.00	0.00	21.00	0.00	0.00	21.00
	Total Amount	\$2,294.25	\$0.00	\$885.50	\$201.25	\$0.00	\$0.00	\$0.00	\$3,381.00	\$0.00	\$0.00	\$3,381.00

Certificate of Service

I hereby certify that a copy of the cover letter and any materials accompanying this certificate was electronically transmitted to the individuals listed below.

The paper copies of this filing are being hand delivered to the Rhode Island Public Utilities Commission and to the Rhode Island Division of Public Utilities and Carriers.

Joanne M. Scanlon

April 11, 202
Date

Docket No. 22-33-EE – Rhode Island Energy's Energy Efficiency Plan 2023 Service list updated 10/12/22

Name /Address	E-mail Distribution List	Phone
Name /Address The Narragansett Electric Company d/b/a Rhode Island Energy Andrew Marcaccio, Esq. 280 Melrose St. Providence, RI 02907 Leticia C. Pimentel, Esq. Robinson & Cole LLP One Financial Plaza, 14th Floor Providence, RI 02903	AMarcaccio@pplweb.com; COBrien@pplweb.com; JHutchinson@pplweb.com; JScanlon@pplweb.com; DMMoreira@rienergy.com; MOCrayne@rienergy.com; BSFeldman@rienergy.com; ACLi@rienergy.com; DJTukey@rienergy.com; SBriggs@pplweb.com; BJPelletier@rienergy.com; JKessler@rienergy.com; JOliveira@pplweb.com; LPimentel@rc.com;	Phone 401-784-4263
National Grid Brooke Skulley, Esq. 40 Sylvan Road Waltham, MA 02451 Division of Public Utilities and Carriers Margaret L. Hogan, Esq.	HSeddon@rc.com; Brooke.Skulley@nationalgrid.com; Margaret.L.Hogan@dpuc.ri.gov; Jon.hagopian@dpuc.ri.gov; john.bell@dpuc.ri.gov; Joel.munoz@dpuc.ri.gov; Machaela.Seaton@dpuc.ri.gov; Paul.Roberti@dpuc.ri.gov; twoolf@synapse-energy.com;	401-780-2120

Tim Woolf		
l ⊨	jkallay@synapse-energy.com;	
22 Pearl Street	jkanay(wsynapse-energy.com,	
Cambridge, MA 02139		
	marisa@desautelesq.com;	401-477-0023
Marisa Desautel, Esq.	<u>inarisato desautoresq.50m</u> ,	101 177 0025
_ · · · · · · · · · · · · · · · · · · ·	mdewey@desautelesq.com;	
55 Pine St.	<u>mide wey departments</u> ,	
l	guerard@optenergy.com;	
· · · · · · · · · · · · · · · · · · ·	ross@optenergy.com;	
Mike Guerard, Optimal Energy	,	
Acadia Center	HWebster@acadiacenter.org;	401-276-0600 x402
Hank Webster, Director & Staff Atty.		
, , , , , , , , , , , , , , , , , , ,	Albert.Vitali@doa.ri.gov;	401-222-8880
Albert Vitali, Esq.	Nancy.Russolino@doa.ri.gov;	
Dept. of Administration	Christopher.Kearns@energy.ri.gov;	
Division of Legal Services	Anika.Kreckel.CTR@energy.ri.gov;	
One Capitol Hill, 4th Floor		
Providence, RI 02908	Steven.Chybowski@energy.ri.gov;	
	Nathan.Cleveland@energy.ri.gov;	
_	<u>Luly.massaro@puc.ri.gov</u> ;	401-780-2107
Luly E. Massaro, Commission Clerk	John.Harrington@puc.ri.gov;	
John Harrington, Commission Counsel		
89 Jefferson Blvd.	Alan.nault@puc.ri.gov;	
Warwick, RI 02888	Todd.bianco@puc.ri.gov;	
	Emma.Rodvien@puc.ri.gov;	
	Emma.icouviona.puo.ii.gov,	
Interested Party		
_	Frederick.sneesby@dhs.ri.gov;	
Frederick Sneesby		
	cvitale@hvlawltd.com;	
Chris Vitale, Esq.,	SUsatine@riib.org;	
	<u>Larry@massenergy.org</u> ;	
Larry Chretien, Executive Director	kai@greenenergyconsumers.org;	
Kai Salem	kanwgreenenergyconsumers.org,	
Ixai Galelli		
	priscilla@greenenergyconsumers.org;	